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ECONOMICS
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Marshallian Theory of consumer’s 4.  Consider the following statements :

behaviour is based on (i) When MC curve is below the

(A) Hypothesis of additive utilities. AC curve, then the AC curve

) ) must be rising.
(B) Hypothesis of independent B )
utilities. (i)  When MC curve is above AC
curve, then AC curve must be

(C©) Both (A) and (B). falling.

(D) Weak ordering. (ii1)) MC curve intersects AC curve
at the point where AC is
constant.

Consider the following statements : Which of the above statement(s)

(i) Income effect is positive in is/are correct ?

case of normal goods. (A) (iii) only
(i) Income effect is zero in the (B) (i) and (ii)
case of superior goods. (C) (i), (ii) and (iii)
(i) All Giffen goods are inferior (D) (i) and (iii)
goods, but not all inferior
goods are Giffen goods. ) ) o
‘ ' o 5. With which of the following is the

(iv) Income‘ effffCt Is negative 1n doctrine of excess capacity in the

case of inferior goods. long run not associated ?

Which of the above is /are correct ? (A) Monopoly

(A) (i) only (B) Oligopoly

(B) (ii) only (C) Monopolistic competition

(C) (i) & (iv) (D) Perfect competition

(D) (i), (iii) and (iv)

6. To derive the demand curve for a
firm for one of the several variable

A profit maximising firm will stop factors, the following must be

production in the short run if price is considered :

(A) less than the average variable (A)  The ex‘ternal effect‘ of the

cost change in the factor price
) (B) The internal effect of the

(B) less than the marginal cost change in factor price

(C) less than the average total cost (C) Monopolistic exploitation

(D) equal to the average total cost (D) Monopsonistic exploitation

Paper-1I
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1.

TTRTEA ohT STHTAT SRR TG LR
5

(A) TNTCHS STYFMTATS hi TR
W |

(B) T@d= SUAMTATST I UReeuT
W |

(C) (A) 3R (B)TA |
(D) ST HH-TATTT T

iR Al R & i

() TEE Tgel & THet ° ST
TS ETCHSR BT € |

(i) SoP T3 & A | 3T T
YR EAE |

(ili) IR TR oeqe e a&qe <,
TR TR e Sy fTthT o
TEE |

(iv) T Tqet & qHe § 31y
FOTIHS BT E |

SUGF H QB T/ Gl & ?

(A) fad (i)

(B) Ta® (ii)

(C) (iii) 3R (iv)

D) (i), (iii) 3R (iv)

M TRIhAH T oAl ®H 3TeTehiel |
IR Uk T, AS HiHd

(A) 3 aRedasiict T st qerT
THAE |

(B) HEEFI @A HAE |

(C) ATTFAATIIFAE |

(D) 3T FeT AN & T & |
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4.

iR oAl R & i
() 9 G AN 9ok S AN

ok o A @l €, d 3T o
5h HR TG T&T &1 1eT |

(i) T WY AN 9ok S AN
ok & T &, I M AN Tk
EYTF ®9 F A FH R ST
TqMET |

(il) I AT 95k A AN S5k
1 39 fog W hrear & ST fad
AT R E |

ST U T W B AV TR E ?
(A) T (iii)

B) (i) 2R (ii)

(©) (i), (ii) =R (iii)

(D) (i) &R (iii)

Ffa¥eh T o fagra Feifha 5 9
foheas T Srdehlel § gt el & 2

(A) THIHHR

(B) STeUTEsR

(C) UIShRT UiaaiTaT
(D) Yo7 UfcriTer

g W UREeIer HReAT & feld w1

AT a5k FehTet o ToTu F=AiTehe ot &

TG MEITF ¢

(A) HRF HET H YRS P 9@
Pric)

(B) RSP HHd § GRS T 3TN
T

(C) USRI IMTOT
(D) ShelTeehRY SIOT
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In an Edgeworth production box, the

only  possible  positions of

equilibrium is

(A) the isoquants are tangent to
one another

(B) the isoquants intersect each
other

(C) the marginal products of the
inputs are equal

(D) both (B) and (C)

In case of Keynes’ Psychological
Law of Consumption Function, which
one of the following statements is
incorrect ?

(A) As disposal income increases,
consumption also increases,
but less than proportionately.

(B) Marginal propensity to
consume is positive but less
than unity.

(C) As disposable income increases,
average propensity to consume
falls, and vice versa.

(D) Average propensity to
consume equals marginal
propensity to consume at all
levels of income.

Which one of the following
statements in case of balanced
budget multiplier is incorrect ?

(A) The value of balanced budget
multiplier is unity in case of
autonomous taxes.

(B) The value of balanced budget
multiplier is less than unity in
case of proportional taxes.

(C) The value of balanced budget
multiplier is always unity no
matter whether the taxes are
autonomous or proportional.

(D) The value of Government
expenditure multiplier is more
than the value of tax
multiplier.

Paper-1I

10.

11.

12.

13.

Consider following statements :

1. Credit creation varies inversely
with Cash Reserve Ratio
(CRR).

2. Credit creation varies

positively with Cash Reserve
Ratio (CRR).

3. Bond price and interest rate are
inversely related.

4.  Bond price and interest rate are
positively related.

Which of the above statements is
correct ?

(A) land3 (B) land4
(C) 2and3 (D) 2and4

Given that C = Currency with the
publicc, DD = Demand Deposits,
TD = Time Deposits and R = Cash
balances with the Commercial
Banks, then high powered money is
defined as

(A) C+DD
(B) C+R
(C) C+TD

(D) C+DD+TD

The premise that there exists inverse
relationship between money wage
inflation and unemployment was
originally given by

(A) A.W. Phillips

(B) Milton Friedman

(C) Philip Cagan

(D) Robert Lucas

Based on accelerated-multiplier
interaction, whose theory of trade
cycles generates constrained cycles ?

(A) Hicks (B) Kaldor
(C) Samuelson (D) Baumol
J-0110



TSTEY IR S H, or ot Gefifar

et o

(A) ?Wwwwﬁwm
|

(B) Y 3TUTS oI5k Uh 5T i 1 & |

(C) ATl ol T 3caTE SR € |

(D) (B) @R (C) T |

I & I FeTd o FARIE W

& G § (=ifhd ° S 91 I 8l

TRIE?

(A) 9 YEST 3 gl &, o STHT
off SigcT &; W= SIS &9

$H |

(B) UMM I AU UgRT €ETCHE
e &; TR Sh1e W HH B & |

(C) <9 YaST 37 Fedl &, o S
A i S T o Bl § SR
TS et |

(D) 3T & Fd TR W 3TH i 3Tad
Tga ST EiH ugt %
TERBATE |

HefeTd ST T[UTeh o T B (=ifhd |
T R T H TATE ?

(A) T R % AHE | Hferd aeie
T T Hod THIE o SRR Bl
T

(B) ST i % T | Geferd
FSIE TUTE 1 oo SohTS § S B

g

(C) Wferd SSie TUTh T God Wed
ThTE & ST BIell & T oh S
AT 3T |
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10.

11.

12.

13.

iR oMl W & i
1. O G Aehat {ioel 3T o
foradier ferem & uftafaa g g |

2. W@ goH Al RS SO 6
@ YAk &9 § giefdd &
g

3. 99 U HAEd AR =S Hl e

o [ y
UIdATHA: JH1-Ed % |

4. &Y U HFEd AR AN B R
HTCH ®T § TR 8 |

e A A P AT TR ?
(A) 1313 (B) 13iX4
(C) 23R3 (D) 23R4

7 f3U g1 W fh C = T o I i
DD = =7 51, TD = Qrafuss s 31K
R = anfurfoeres bt & U Tehal 99 €, o
3T WA (8T8 UTaS) GRT ol T 39
TEAFRI AL :

(A) C+DD
(B) C+R
(C) C+TD
(D) C+DD+TD

TE SFTUROT o Hifgeh wo-Thifd 3R
ISR o & TR = 2, Hord:
forat wfcaTiad =t ?

(A) T =], e
(B) THee et
(C) Tfea =
(D) e Ty

RS- RN Rl O SR
R Tehi 9 gryd feaer g
TRITYT SOR sh 3ca=T a1 & 2

(A) Ted (B) e
(C) Ige (D) daTSH

Paper-1I



14.

15.

16.

17.

Which of the following statements is
incorrect ?

(A) Monetary Policy is relatively
ineffective, when the interest
elasticity of investment is low
(IS curve is steep)

(B) Monetary Policy is relatively
ineffective, when the interest
elasticity of demand for money
is high (LM curve is flat)

(C) Fiscal policy is relatively
ineffective, when interest
elasticity of demand for money
is low (LM curve is steep)

(D) Fiscal policy is ineffective,
when interest rate elasticity of
investment is low (IS curve is
steep)

The practices of transfer pricing in
the open economy is resorted to by

(A) Mutual Funds

(B) Institutional Investors

(C) Multinational Corporations
(D) Private Banks

The warranted rate of growth as
defined in Harrod’s Model is

S/
A i
S
®
1
© 1

(D) none of the above

The Human Development Index was
first developed by

(A) UNDP
(C) UNICEF

(B) IMF
(D) UNCTAD

Paper-1I

18.

19.

20.

21.

22.

Which one of the following is not an
instrument of fiscal policy ?

(A) Public Revenue
(B) Public Expenditure
(C) Public Borrowing
(D) Cash Reserve Ratio

Who is Director General of WTO ?
(A) Alan Greenspan

(B) Lamy Pascal

(C) William Diamond

(D) Eugine Black

The role of the
globalization is

(A) zero

State under

(B) maximum
(C) minimum (D) neutral

Which one of the following is the
most important source of revenue of
State Governments in India ?

(A) Land Revenue
(B) Sales Tax
(C) Stamps and Registration Fees

(D) State Excise Duties

Equity in Taxation can best be
achieved by applying the principle of

(A) Equal Absolute Sacrifice
(B) Benefit
(C) Equal Marginal Sacrifice

(D) Equal Proportional Sacrifice

J-0110



14.

15.

16.

17.

fr=ifrd e 4 A A AT E 2

(A) T Fraer it =T o e e §
GEHICERICEE ECE A I N
d Hifge AT qorHs ' "
TSR &Il € |

(B) & TgT % fotw #FT &l =& @
ek gl ¢ (TOLUA. o3h 9uie
T ¥), d Hifgw A o
Y Y TR Bl § |

(C) <& Tx1 o foiq w ! e o
=1 Bt & (Tet.um. a5 SfauEnT
1T €), A STehIST i JorTersh
Y Y TR B § |

(D) < frasT ot =T e e Bt ®
(AETE. @6 AfawEw ),
TR AT goFcas €9 9
TSR BIefl & |

AT SIS § ATl shige T
(STIHR TTET) T T o gRT FTRR |
AT ST &

(A) A hed

(B) T faeTehdr

(C) g e

(D) fr=ii &

Ggfg @ difed | A T HEA
e, 7 % g7 el e e
) %

(B)

©
(D) SUe | ¥ g Tl

(A) UNDP
(B) IMF
(©) FFEw
(D) 3iwere (UNCTAD)

J-0110

18.

19.

20.

21.

22.

iR o @ i 91 TSThINE it i
SUHIOT TR & ?

(A) G 3
(B) WS
(C) TESI-eh 0T
(D) et R aFar (CRR)

TI9e SR G 1 SR ST i

g2

(A) UoH W=
(B) <! UEheA
(C) faferaq gawvs
(D) IhH =h

STATHOT o ST TRBR h! i T

gare ?
A) T (B) etfushan

(C) =Ffaw (D) w&=H

TR | T THR & oG ] Falash
HETaqUT G iR 5 | i A8 ?

(A) R

(B) T

(C) ¥v TH HSIehtoT e
(D) T5F 3R Yeeh

T8 5T &1 3TN A | FHIRI0T
T FelTeh THAT e i T Gehell € 2

(A) Ty et @m
(B) <4

(C) HHF T T

(D) U SR T
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23.

24.

25.

26.

Which of the following is correct
measurement of fiscal deficit in
India ?

(A) Excess of total revenue
expenditure over total revenue
receipts.

(B) Excess of total expenditure
over total revenue receipts plus
non-debt capital receipts.

(C) Excess of total expenditure
over total receipts.

(D) Excess of total expenditure
over total interest payments.

Marginal cost of a pure public good
is

(A) zero or close to zero
(B) one

(C) (A) and (B) both
(D) very high

Which of the following is not one of

the objectives of the tax reforms in

India ?

(A) Reduction in multiplicity of
custom duty rates

(B) Improving tax compliance
(C) Widening the tax-base

(D) Suggesting ways to increase
the share of indirect taxes in
total tax revenue

An excise duty is fully borne by the
buyers, when price elasticity of
demand for the product is

(A) o<

B) 0

<o 1

(D) between 1 and o<

Paper-1I

Note : In the following Question No. 27,

27.

28.

29.

30.

there are two statements, one is
Assertion (A) and the other
Reason (R). You have to examine
these carefully and select the

answer from the codes given
below :

Assertion (A) Indirect taxes

promote inequalities in the

distribution of income.

Reason (R) The poor bear
more burden of indirect taxes.

Codes :
(A) (A) is true but (R) is false.

(B) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(C) (A) is false but (R) is true.

(D) Both (A) and (R) are false.

Factor Endowment Theory of
International Trade is given by

(A) Heckscher-Ohlin
(B) Haberler

(C) Raul Prebisch
(D) Jagdish Bhagwati

The concept of single factoral and
double factoral terms of trade have
been given by
(A) Haberler

(B) Jacob Viner

(C) Snider
(D) Scammel
The equation of foreign trade
multiplier is
(A) Rupee — Dollar Ratio
(B) mpm + mps
(C) Tax — GDP Ratio
1
(D) —— o
pm + mps
J-0110



23.

24.

25.

26.

L IEC IR B ) 11 o Mo A B = )
T A A S AT ?

(A) FT TS Wl bt JorT § pot
T =TT o1 AT |

(B) el TSI Wil STHT H0TeR Yit
Wied ot o H Fel FF H
SR |

(C) e Wferat ot ol | el 4
SR |

(D) FeT AT PIAAT Bl ol H Fot
= T AT |

I[5 HIEST(+eh o] st T AR €
(A) ¥ AT & ke

(B) T

(C) (A) 7= (B)sH

(D) = ik

IRA | Y GuRT 1 3299 iR o &
I T ?

(A) T I X i Fgeral § AT |
(B) o U H R |

(C) =T 3TTER ol oy L |

(D) FoT I TTE H 3] A
I H ghg FRA h AR Bl
T |

ST fRdt g & fou =T @6t e o
fortiferer Bttt €, o Scare Yok I
TR Shall o8- o & -

(A) o<
(B) 0
€) 1
(D) 13N cFHdA
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27.

28.

29.

30.

TR U9 W 27 H U ST
(A) 3R wh o (R) fewr & | =@
SHYAS T Heh A KU FE
IR T T3 HITTT

ANMHAT(A) @ T W AT &
foeRoT & AT e € |

% (R) DI W W YR
T R SR T € |

S :

(A) (A)TFe, R (R) 30T |

(B) (A) 3R (R) 3Mi ¥ & a1 (R),
(A) T GE AT E |

(C) (A) e, W (R) T¢ |
(D) (A) 3R (R) I S € |

ML AMR H HIFI-TISEHS
g fohge it femam 2

(A) EFER-3iEfe

(B) TR

(C) Y-Uferer

(D) STTRHeT e

TR ! 31T bl Tshel Sheh e TgehReh
SFTIROMG THE UfqaTiee bt 2

(A) TR (B) ShiE d1g R
(C) ¥R (D) oA

farett =TI TToTeR ST QiR &
(A) BUAT — EoR U

(B) mpm + mps

(C) Y — FheT TXe] 3ATR ST

1

D) ———
pm + mps
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31. Trade Policy Reforms in India
include

(A) disinvestment
(B) lowering of custom duties
(C) increasing SLR

(D) reduction in direct and indirect
taxes

32.  Which of the following countries is a

member of the ASEAN Group ?
(A) China (B) India
(C) SriLanka (D) Thailand

33. The meeting of G-20 in 2009 was
held at

(A) London
(B) Paris

(C) Geneva
(D) New Delhi

34. From a bag containing 6 red, 4 green
and 5 black balls, one ball is drawn
at random, find the probability that it
is either red or green.

6C, +4C,
A —35~
ISC1
6
®B) 13
4
© 715

(D) oC, x*C, x15C,

35.

36.

37.

38.

39.

Match list — I with list — IT and select
the answer from the codes given
below :
List -1
(a) Total area
under
normal curve

(b) Square of 2. 1
standard
deviation

(c) Symmetric 3. £x100
distribution X

(d) Co-efficient 4. variance
of variation

Codes :

(@ (b © @
(A) 3 4
B) 2 4
<) 4 1
D) 1 2

List - II
1. B, =0

W N = =
B W W

The area between —3 and +3 under
standard normal curve is

@A 1 (B) 0.9973
(©) 0.95 (D) 0.6826

If the co-efficient of determination is
0.12 and one of the regression co-
efficients is 0.3 ; what is the value of
the other regression co-efficient ?

(A) 04 (B) 0.36

© 0.9 (D) 0.15

For a large sample, 6, = 2, Ty = 0.8
the standard error of bxy.

(A) 1.1 B) 2.1

< 1.2 D) 1.6

The mean and variance of a standard
normal variate respectively

A) 0,0 (B) 0,1
© 1,0 D) 1,2



31.

32.

33.

34.

IRA § MR Afq T guRl |

T §

(A) fafesr

(B) T I[oohl ol Y AT

(C) TAUAR. (Tifaus  aerar
) A P

(D) VT Ua 3T A H HHT

fifrd & @ w9 W Sw SR

(ASEAN) §%g I G5 & ?

(A) =H (B) wRd

(C) etk (D) emEeis
G-20 T 2009 T THAT Fel AT
fepa T 2

(A) o= (B) uR™

(C) Sia (D) ¢ et

6 WA, 4 B 3R 5 el 7T W It §
T TH 75 AGesH & F et ST & |
Tg g OTCT AT & & TH T Y WFhel
T HITTT |
6C, +4C,

ISC1

(A)

6
®) 135

4
© 13

(D) oC, x4C, x5,

35.

36.

37.

38.

39.

gaA-1 1 gEt-11 | e Sifse qor 9=

U il | IR 1 T3 HiT
-1 en-11
(a) W 56 6 I B,=0
ST ot & B

(b) v e w2, 1
() W fan 3 X100

(d) To=rer ot 4. YTIOT
S :
@ @ © @
A 3 4 1 2
@ 2 4 1 3
© 4 1 2 3
™ 1 2 3 4

e | o5k & 3aid — 3 31K + 3
o &g &

(A) 1
(C) 0.95

(B) 0.9973
(D) 0.6826

Ifg fAuRer e 0.2 ¥ AR TR
FATTE T 0.3 ¥, A SEY FeOTE

TOTeR T 0o T ?
(A) 0.4 (B) 0.36
(C) 0.9 (D) 0.15

TF G Wi H o, =2, 1, = 0.8 7l

b,., 1 W e et
(A) 1.1 (B) 2.1
©) 12 (D) 1.6

A TEMHRT WX o AT S IS
FE: &

(A) 0,0 B) 0,1

© 1,0 D) 1,2



40.

41.

42.

43.

44.

The algebraic sum of deviations of a
given set of observations from their
arithmetic mean is

(A) oo
<o -1

B) 1
D) 0

Unbalanced regional growth in India
is due to

(A) unequal budgetary support by
Central Government to

different States

(B) spatial distribution of
industries
(C) inadequate development

infrastructure in some States
(D) all of above

In HDI, which one of the following
is not taken as an indicator ?

(A) Life expectancy

(B) Literacy

(C) GDP per capita

(D) Per capita food consumption
The Union Budget is presented
under which Article of the
Constitution in India ?

(A) 110 (B) 111

©) 112 (D) 122

Financial Sector reforms in India
consist of

(A) Lowering down of CRR and

SLR

Entry of private firms in
insurance sector

(B)

©
(D)

Deregulation of rate of interest
All of the above

Paper-1I
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45.

46.

47.

New Agricultural strategy has
(A) widened the gap between the

rich and the poor farmers

(B) increased production of only
few crops

(C) led to an increase in regional
disparities

(D) all of the above

Match the list — I with the list — II
and select the answer from the codes
given below :

List-1 List-1I
(a) Theory of  (I) Harvey
big push Leibenstein
(b) Unlimited (II) Lewis
supply of
labour
(c) Trade as an  (III) Emery
engine of
growth
(d) The (IV) Kuznets
concept of
economic
growth

@ B (© @
A IV m oI
(B) 1 o m v
(C© I m IV I
M) m v I I

If the accommodating capital is zero
in the balance of payments of a
country, there will be

(A) equilibrium in the balance of
payments.

(B) disequilibrium in the balance
of payments.

(C) deficit in the balance of
payments.

(D) surplus in the balance of
payments.
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40. U U GY=IT F TR FI, Ik MO

e O forrer=t sl ST an &
(A) oo B) 1
o -1 (D) 0

41. 9RT 5 gfg | & ST I HRUTE

(A)

(B)

©

(D)

=1 T B hg TR g
TG TSI FEET |

EfTeh gl T TR
foaor |

FT T OH FEEA (ThaeTS
ERRICECIl

ST F |

42. TifeRd W © i 91 Geheleh {1 faehrd
geehieh | &l foran Tar g ?

(A)
(B)
©
(D)

e TeaTen
i@ TreRar

Tl ATk Wehe BXT] SR

Ui Aok T ITT ST ST

43, 9RAE auE & R o] & siaa

FH1T w12 99T fomar ST € 2
(A) 110 (B) 111
(C) 112 (D) 122

44. 9Ra | et 851 % QURT | G &

(A)

(B)

©

(D)
J-0110
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45.

46.

47.

I Fra T O o

(A) &t T8 e el & &g S
1 forega fFaT & |

(B) HaeT FS & ®HAl & IR H
FFHE |

(C) &g fammarei H gfg i e |

(D) Sug |t |

-1 1 geli-11 o |1 e i 3R
e U el 9 SR &1 T3 iU :
-1 TE-1T
(a) T AT fa (D HEC|
9T GIEESIE]

)

9 ol AT
aafa

(c) FIFgHTHH
Y H AR
3Tk Tgteg i
TR
HIE

@ O (@© (@
(A IV I I 1
B I 1 1 1V
(© I 1 IV I

D) m v oI IT

®) (1) e

(IIl)

@ (IV) Frem

g I/ H PEE AT H e
(TepiTefem) Ot I &, o

(A) A I § Hefer e |
(B) A 91 H SrEer & |
(C) T 9IS 1T & |
(D)  SJTAM I § ek EAT |
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Note : Read the passage given below and 48. For the decade upto 1981, the
answer questions from 48 to 50, on

. average growth rate of GDP per
the basis of the passage :

capita was
The 1990s were the best years for
India as far as GDP growth is (A) 4.0 per cent
concerned. This is evident from the

data provided by the annual (B) 3.5 per cent

Economic Survey of the Government (C) 0.8 per cent
of India. For the decade up to 2001,
real GDP at factor cost grew at 6.1 (D) 2.0 per cent

per cent and per capita GDP at 4 per
cent. This is certainly an
improvement over that obstinate 49.
3.5 per cent ‘Hindu rate of growth’
that dogged our fortunes right up to
the end of the 1970s : for the period decade upto 2001,
1950-51 to 1980-81 the average rate
of growth of GDP was 3.5 per cent
and that of GDP per capita, hardly
1.5 per cent. In fact, for the decade (B)
up to 1981, per capita GDP grew at
only 0.8 per cent. There is no doubt

The growth in real GDP at factor
cost and per capita GDP, for the

(A) was less than that for the
decade upto 1981

was less than that for the
decade upto 1970

that in terms of growth, India is (C) was more than that for the
doing much better now than ever .

before. lizrglgdglbetween 1950-51 to
However, improved growth

performance  has  not  been (D) none of the above
accompanied by improved

employment generation. On the

contrary, the growth rate of 50. Employment growth rate for the

employment fell sharply in the
1990s. Using National Sample
Survey (NSS) data, while for the (A) did not reflect the higher GDP
period 1983 to 1993-94, employment
grew at 2.72 per cent per annum, the
corresponding figure for the period (B) was lower than the
1993-94 to 1999-2000 was only
1.02. This sharp drop in employment
growth led to am increase in

period 1993-94 to 1999-2000

growth during this period

employment growth for the
period 1983 to 1993-94

unemployment from 20 million in (C) (A) and (B) both
1993-94 to nearly 27 million in
1999-2000. (D) none of the above
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e : A 59T Ui ufeu 3T 39 SR W

U9 G=T 48 I U G=AT 50 TF o I

il

ST ek TS, gf 1 9 & 1990 %
TI F a9 GRA & U O3 4 | g
IR WHR & e T qaeTor
FRT TS fohU 3iffehel & W= & | 2001
TH o IWE & (W, A Nd W
arEdferes SELd. § 6.1 uiaea ¥ 3R
uiq =fed Steid. # 4 uiava @ 9tg
T | FE 3.5 U h IR g hi
feg 30, 7 1970 & 1% & faope
3T T AR WY &l 365 @, T
ffead & F R & : 1950-51 & 1980-
81 T I @MY & ol ST i
e =l ST T3 3.5 WA off 3R ui
e 2., g & 1.5 wfawr |
AT H, 1981 TF F Ih &b foT, Ufd
e ST, 9% 0.8 iaera § =@l |
T IS TeE T & T dafg & Ty b,
qRA Ueet § SATET TS L @I e |

T, I~Id Gglg MR & d1-
T ISAIR Gl 31 8T g3 | T9h
o, 1990 & 39T | ASHIR St Gatg
T ol & I | A9ret ¥met |49 (NSS)
% 3Rl o AR, STafh 1983 ¥ 1993-
94 Tk i AT F o0, ASHIR Ui o
2.72 viaera ¥ ST, 1993-94 ¥ 1999-
2000 T 1 @Y & fow guet 37
o 1.02 o7 | ISR Ggfg H 39
RTee 3 SRISHIRT st T <l 1993-94 |
20 ffer@ & 1999-2000 H 27 e
RERCCRECIM

J-0110
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48.

49.

50.

1981 T o T o TU, UTq Ao Hehel
TT] SCTE ol 3T Wiy ohi 3% ot

4.0 gt
3.5 gfeera
0.8 Hferera
2.0 gfeera

(A)
(B)
©

(D)

2001 T o T o [T, HET AR T
Ao et BRe] SedTs STR Wi SAferd

Hehel B 3T

1981 T o TIE 6 (o0 S AT
IEEF AT |

1970 T o TIE 6 (o0 ST AT
IEEF AT |

1950-51 9§ 1980-81 & &= &
T b [T S 2T IHY 7T T |

ITYHT H W FIE 1o |

(A)

(B)

©

(D)

1993-94 & 1999-2000 T I 3Ty &
foTu ISR Ay I R

(A)

T 31aMY o IR Tohel =0 SR
o gnfets S gfg W w0 T
I |

1983 § 1993-94 ek hl 3G o
o TSR Hagfeg T o ot |

(A) 3T (B) g |
ST | T HE T |

(B)

©

(D)

Paper-1I
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